
TIKRIT UNIVERSITY

COLLEGE OF COMPUTER SCIENCE AND MATHEMATICS

DEPARTMENT OF COMPUTER SCIENCE

SUBJECT OF COMPILER1

DATE OF ISSUE:  2024 - 2025 

CLASS: 3TH STAGE

SEMESTER 1

LECTURE NO. : 6

1

(1)



Arithmetic Expressions (2)

➢ An expression is a particular concept in computer science.

➢ Only Operand ; Only function ; Operand , operators and functions; are put

together in a single statement that is acted on by a particular programming

language.

➢ It must follow (pattern of a grammar of language) syntax rules in order to be

correct.

➢ In computer science, expressions are written by developers, interpreted by

computers and 'evaluated.’ The evaluation produces a return or result.

➢ Different types of expressions are categorized to Boolean expressions evaluate to

either a true or false value, while numerical expressions evaluate to numbers.

➢ It's important for programmers to understand what's 'legal’ or 'illegal’ in program

syntax. Inputting incorrect or illegal syntax will result in compiling errors.

 Arithmeticويسىتدم  لناى ش رى الا ااعىااع للاتليى ا اةسى  ي  ( Bottom-up methods)التحليل من اسفل الى اعلى  ❑

Expressions

خوارزميى  سسىتلم وهى  . لنا ش ر الا ااعىااع postfix String Algorithm: سوف يتم استدما  خوارزمي  التموين اللاحق❑
(.Parse tree)لتحوله الى (Source program) صيغته (infix)صيغه الاتط الا دي expressionالتانير اةس    



The Problem in Parsing Expressions (3)

EX.2 Algorithm

Expression 10 – 2 * 3

Result 24

Algorithm of parsing expressions

a = get first operand // 

while (operands present)

{

op = get operator

b = get second operand

a = a op b

}

EX.1 Algorithm

Expression 10 * 2 – 3

Result 17

EX.3 Algorithm

Expression 10 – 2 * 3

Result 4

✓ This routine gets the first operand, the operator, and the second operand to perform the first operation and

then gets the next operator and operand to perform the next operation, and so on.

✓ However, if you use this basic approach, the expression 10 – 2 * 3 evaluates to 24 (that is, 8 * 3) instead of 4

because this procedure neglects the precedence of the operators.

✓ You cannot just take the operands and operators in order from left to right because the rules of algebra

dictate that multiplication must be done before subtraction.

✓ But the problem only gets worse when you add parentheses(), exponentiation, variables, unary operators,

and the like.



9. = Right-to-Left

Sq. Operators Ex: Associat

ivity

2. ++ , -- Prefix 

increment and 

decrement

+ – (unary)

Unary plus and 

minus

! , ^

= ++ 4 + (12*2)

= 5 + 24 

= 31

= + (– 1)

= – 1

= 2 * 3 ^ 2

= 2 * 9

= 18

Right-

to-Left

Sq. Operators Ex: Associativity

3. / , * , % =2+ 12 *3 / 4

=2 + 36 / 4

= 2 + 9

= 11

Left-to-Right

هناااوجد عاااتجن    ااا  

,لهاانجس ااوجويةل داا 

سااااااا ر اجول  ساااااااو  ج

ب ن  اااااااااجول    ااااااااو 

ج اااا جول  ااااو  وب ااااتون 

.ولىجول    

Precedence and Associativity of Operators

Lower 

Precedence

Higher 

Precedence

8. || Left-to-Right

7. && Left-to-Right

6. != , = = Left-to-Right

5. ≤ ,≥,< ,> Left-to-Right

4. - , + = 2 + 9

= 11

Left-to-Right

Sq. Operators Ex: Associativity

1. ( ) = 3 + (8 – 9) 

= 3 + (– 1)

= 3 – 1

= 2

Left-to-Right

ات
بقي

لاس
يذ ا

تنف

ية 
سبق

غر ا
اص

لى 
ية ا

سبق
ى ا

اعل
من 
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أسنقي ا الاتلي ا اةس  ي  والترا ط (5)

-:  لترسيبوه ااخاىقنلسافيذه يتمعتلي ايبمانىها ااولوي :ملاحظه
.داخلهفيالت اةس  ي الاتلي ك نمهت اواا يافذااقواس ماخلم ان()ااقواس1.
.الالي ااولي له سكونفقطواحمعاصااومكونمنستكونالت خ ص الاي ضي عتلي 2.

Unary: is a mathematical operation especially, where consisting of or involving a single component or element.

ل ماخم سافيذيتمايااقواس امساسينهميأس وااسوالاف  واحموالاقص ن واحمالزي دلاما مل,^و!و--و++
.^و!و--و++الاتلي اسافيذيتمثموجمانااقواس

.والاف والاقص نالزي دلاوما ملااااقواس امساسينهميأس القست و  ق القست والضاع,%و/و*3.

.ااولوي اساسيبفيرا ا ا يأس الطاحوالجتعساسيب,-و+4.

.خ مس ا يأس ااولوي افيوساسين ا ,الشاطجملمعغ لن ا نستدممه الت المق رن عتلي اوه ,=<و<و=>و>5.

.اصغااوااكبرعتلي ا امايس دس ا ساسينهمويأس ,المق رن اوالشاطجملفينستدممهمغ لن ا ايض ا وهم,!=و==6.

.راطينتحققويشترطر شسافيذنايمعامم استدمامه يتمم غ لن ا وANDالماطقي الاتلي ,&&7.

.اكثااوراطينمنراطتحققويشترطر شسافيذنايمعامم استدمامه يتمم وغ لن ا ORالماطقي الاتلي ,||8.

.ااماهذهخلالمنالمتغيرااالىالقيماسا ديتماةس  ي الاتلي اسافيذيتمان اماي,القيماسا دعتلي وه =9.
.ساسيباخافييأس لهااولوي اوساسيب



أسنقي ا الاتلي ا اةس  ي  والترا ط (6)



Pointer for ID 

in Symbol table

Token table

Attribute Name

Kwif

Pun(

1idX

Op>

2idY

Pun)

1idX

Op=

2idY

Op*

1idX

Op+

Num3.5

Op–
Num10

Op/

Num5

Op*

3idZ

Pun;

Symbol  table

Token nameSq.

X1

Y2

Z3

Lexemes 

if

(

X

>

Y

)

X

=

Y

*

X

+

3.5

–
10

/

5

*

Z

;

Token stream:

<if , k.w> <( , pun> <id , 1>

<> , Op> <id , 2> <) , pun>

<id , 1> <= , Op> <id , 2>

<* , OP> <id , 1> <+ , OP>

<3.5 , Num> < – , OP>

<10 , Num> </ , OP>

<5 , Num> <* , OP> <id , 3>

< ; , pun >

Lexical analyzer phase

Source program
1 2

4

3

Ex:1: We have

source program

below . What are

outputs for Lexical

analyzer and

syntax analyzer ?

if ( X > Y )

X = Y * X + 3.5 –

10 / 5 * Z ;

(7)



Stmt)Expr1(if

Syntax Analysis phase

;Expr2=

1id

2
3

1

Top-down method

Bottom-up method

?

?

Bottom-up method

4
5

Top-down method

ل ر اجبول ح  لجifود وزجك و  س فجد سلجولىجifننت وجدجتجول ح لجود وزج
Statement → if ( Expression ) Statement [ else Statement ]?

Top-down method

token  ول    نExpr1د سل streamولى

postfix)ولخ و ز    String Algorithm)

ت طت ف ن  شج ةولىبشكلد  دثنب  ت  هل ر ا

.ول ئ    وين وببشج ة

(8)

token  ول    نExpr2د سل streamولخ و ز   ولى

(postfix String Algorithm)ولىبشكلد  دثنب  ت  هل ر ا

.ول ئ    وين وببشج ةت ت طف ن  شج ة



Sq. Input Stack.op Output

id1 > id2 Empty ∅

postfix:اللاحقالتموينخوارزمي  (suffix) String Algorithm

الا ديالاتطصيغهexpression1اةس   التانيرسستلمالخوارزمي 
(infix)صيغته (Source program)الىلتحوله(Parse tree):

ف رغ ؟اةس   التانيرالممخلااهل1.
.(2)الىاذهب:نام
.(3)الىاذهب:كلا

ف رغ ؟القت هل2.
.الخوارزمي مناخاج:نام
.(5)الىاذهب:كلا

أوNumberأوIdentifierأم )فقطواحمجميمTokenأقااش3.
Operator)(4)الىوذهب.(اةس   التانير)الممخلاامن.

؟NumberأوIdentifierعنعن رلاالمقاوشTokenالاتوذجهل4.
.(1)الىوذهبمن رالاالمداج االىأرسله:نام
.الشاط(5)الىاذهبو(NextOperator)في(Token)الىىعض:كلا

سس ويأواكبر(TopOperator)المكمسقت اسنقي أنهل:الشاط5.
ف رغ ؟ليستوالقت (NextOperator)الق د الا ملأسنقي 
.(5)الىواذهب.المداج اإلى(TopOperator)المكمسمنأسحب:نام
وسوفالاواملمكمسإلىNextOperator))الق د الا ملأدفع:كلا

يس وي(NextOperator)جالو،(TopOperator)هويكون
Empty(أقااش)(1)الىوذهب.

.المتغيراا ملقيم تاويضنقو اةلصح منللتأكم:ملاحظ 

Syntax Analysis phase

The expression1 string written by

source program: id1 > id2

The postfix string1

Sq. Input Stack.op Output

(1) id1   >   id2 Empty ∅

(2) >   id2 Empty id1

(3) id2 > id1

(4) ∅ > id1 id2

(4) ∅ Empty id1 id2   >

(9)



5.

Syntax Analysis phase

1. id1 id2 >

4. id1 id2 >

2. id1 id2 >

3. id1 id2 >

1

>

1id 2id

2

3

1

id1   id2  >  

(Postfix String1)
(Parse Tree Algorithm of Postfix String)  

  وس لا  تنيحقتتةد خ ط

ولىةد سلول وبر ولخ و ز   

ول تةد خ طشج ةبنونخ و ز   

.وللاحق

ولشج ةولىونلاهولشج ةف عت سل

.ول ئ    وين وب

Parse Tree Algorithm of Postfix String (suffix string):

suffix)الممخلااأمسح.1 string)اليتينالىاليس رمنالنماي من
.(2)الىوذهب.حار الافاعأومستقلTokenأم تجمه وسوف

؟فقطواحمعاصاالمقاوشلاالممخلااهل.2
.الخوارزمي منوخاج.الش الاهوأذن:نام
.(3)الىأذهب:كلا

أم وهو(الممخلاامنااولالموقعمنااولالااصاأٌقااش.3
Operand(4)الىوذهب(حار الافاعأو.

أم وهو(الممخلاامنالث ن الموقعمنالث ن الااصااقااش.4
Operand(5)الىوذهب(حار الافاعأو.

هوهلالممخلاامنالت ليالموقعمنالث لثالااصااقااش.5
Operator؟

والااصا(Root)ااعهو(Operator)الىىىر الافاعكون:نام
Left)لهاايساالطفلهوالأول child)هوالث ن والااصا
Right)لهايمنطفل child)(1)الىوذهب.

الواج.اة ليالأولالااصااهت لوه التزحيف اتلي قم:كلا
الااصاوجال.اة ليالأولالااصا ملالث ن الااصا
.(5)الىوذهب.الث ن الااصا ملالث لث

(10)



(11) postfix):اللاحقالتموينخوارزمي  String Algorithm)

2اةس   التانيرسستلمالخوارزمي 

id1 = id2 * id1 + 3.5 – 10 / 5 * id3

source) صيغته(infix)الا ديالاتط صيغه program)
postfixالىلتحوله String(suffix string):

ف رغ ؟اةس   التانيرالممخلااهل.1
.(2)الىاذهب:نام
.(3)الىاذهب:كلا

ف رغ ؟القت هل.2
.الخوارزمي مناخاج:نام
.(5)الىاذهب:كلا

أوNumberأوIdentifierأم )فقطواحمجميمTokenأقااش.3
Operator)(4)الىوذهب.(اةس   التانير)الممخلاامن.

أوIdentifierعنعن رلاالمقاوشTokenالاتوذجهل.4
Number؟

.(1)الىوذهبمن رالاالمداج االىأرسله:نام
(5)الىاذهبو(NextOperator)في(Token)الىىضع:كلا

.الشاط
أواكبر(TopOperator)المكمسقت اسنقي أنهل:الشاط.5

والقت (NextOperator)الق د الا ملأسنقي سس وي
ف رغ ؟ليست
.المداج اإلى(TopOperator)المكمسمنأسحب:نام

.(5)الىواذهب
مكمسإلىNextOperator))الق د الا ملأدفع:كلا

جالو(TopOperator)هويكونوسوفالاوامل
(NextOperator)يس ويEmpty(1)الىوذهب
.(أقااش)

Syntax Analysis phase
Sq. Input Stack.op Output

(1) id1 = id2 * id1 + 3.5 – 10 / 5 * id3 Empty ∅

(2
)

= id2 * id1 + 3.5 – 10 / 5 * id3 Empty id1

(3) id2 * id1 + 3.5 – 10 / 5 * id3 = id1

(4) * id1 + 3.5 – 10 / 5 * id3 = id1 id2

(5) id1 + 3.5 – 10 / 5 * id3 *
=

id1 id2

(6) + 3.5 – 10 / 5 * id3 *
=

id1 id2 id1

(7) 3.5 – 10 / 5 * id3 +
=

id1 id2 id1 *

(8) – 10 / 5 * id3 +
=

id1 id2 id1 * 3.5

(9) 10 / 5 * id3 –
=

id1 id2 id1 * 3.5 +

(10) / 5 * id3 –
=

id1 id2 id1 * 3.5 + 10



(12) postfix):اللاحقالتموينخوارزمي  String Algorithm)

2اةس   التانيرسستلمالخوارزمي 

id1 = id2 * id1 + 3.5 – 10  /  5  * id3

source) صيغته(infix)الا ديالاتط صيغه program)
postfixالىلتحوله String(suffix string):

ف رغ ؟اةس   التانيرالممخلااهل.1
.(2)الىاذهب:نام
.(3)الىاذهب:كلا

ف رغ ؟القت هل.2
.الخوارزمي مناخاج:نام
.(5)الىاذهب:كلا

NumberأوIdentifierأم )فقطواحمجميمTokenأقااش.3

الىوذهب.(اةس   التانير)الممخلاامن(Operatorأو
(4).

أوIdentifierعنعن رلاالمقاوشTokenالاتوذجهل.4
Number؟

.(1)الىوذهبمن رالاالمداج االىأرسله:نام
(5)الىاذهبو(NextOperator)في(Token)الىىضع:كلا

.الشاط
أواكبر(TopOperator)المكمسقت اسنقي أنهل:الشاط.5

والقت (NextOperator)الق د الا ملأسنقي سس وي
ف رغ ؟ليست
.المداج اإلى(TopOperator)المكمسمنأسحب:نام

.(5)الىواذهب
مكمسإلىNextOperator))الق د الا ملأدفع:كلا

جالو(TopOperator)هويكونوسوفالاوامل
(NextOperator)يس ويEmpty(1)الىوذهب
.(أقااش)

Syntax Analysis phase

Sq. Input Stack.op Output

(11) 5 * id3 /
–
=

id1 id2 id1 * 3.5 + 10

(12) * id3 /
–
=

id1 id2 id1  *  3.5  +  10   5

(13) id3 *
–
=

id1 id2 id1  *  3.5  +  10   5  /

(14) ∅ *
–
=

id1 id2 id1  *  3.5  +  10   5  / id3

(15) ∅ –
=

id1 id2 id1  *  3.5  +  10   5  / id3  *

(16) ∅ = id1 id2 id1  *  3.5  +  10   5  / id3  *  –

(17) ∅ Empty id1 id2 id1  *  3.5  +  10   5  / id3  *  – =

The postfix string2



(13)
(Parse Tree Algorithm of Postfix String2)  

id1 id2 id1 * 3.5 + 10 5 / id3 * – =
1

2
3

4
5

6

=

1id

2

*

2id 1id

3

4

3.5Num

+

–

10

6

11

12

1

/

10Num 5Num

5

3id

*

99

87

The postfix string2

Parse Tree Algorithm of Postfix String (suffix string):

suffix)الممخلااأمسح.1 string)اليتينالىاليس رمنالنماي من
.(2)الىوذهب.حار الافاعأومستقلTokenأم تجمه وسوف

؟فقطواحمعاصاالمقاوشلاالممخلااهل.2
.الخوارزمي منوخاج.الش الاهوأذن:نام
.(3)الىأذهب:كلا

أم وهو(الممخلاامنااولالموقعمنااولالااصاأٌقااش.3
Operand(4)الىوذهب(حار الافاعأو.

أم وهو(الممخلاامنالث ن الموقعمنالث ن الااصااقااش.4
Operand(5)الىوذهب(حار الافاعأو.

هوهلالممخلاامنالت ليالموقعمنالث لثالااصااقااش.5
Operator؟

والااصا(Root)ااعهو(Operator)الىىىر الافاعكون:نام
Left)لهاايساالطفلهوالأول child)هوالث ن والااصا
Right)لهايمنطفل child)(1)الىوذهب.

الواج.اة ليالأولالااصااهت لوه التزحيف اتلي قم:كلا
الااصاوجال.اة ليالأولالااصا ملالث ن الااصا
.(5)الىوذهب.الث ن الااصا ملالث لث



(Parse Tree Algorithm of Postfix String2)  

id1 4 3 * 3.5 + 10 5 / 1 * – =
1

2
3

4
5

6

Syntax Analysis phase

=

13.5

1id

2

*

12

4 3

3

4

3.5Num

+

15.5

–

13.5

106

11

12

1

/

2

10Num 5Num

5

1

*

2

99

87

مقي تاويضنقو اةلصح منللتأكم:ملاحظ 
(id2) مل(4)قيت :مثلاناوضالمتغيراا مل
.(id3) مل(1)قيت و(id1) مل(2)قيت و
.اةس  ي الاتلي ا إجااشنقو ثم

 دل مافيالمتغيراا ملقيم تاويضنقو كذلك
source program الجبرعلموحسبااصلي

. ويمتساةليكونانيجباةلنق رنثمالاي ض 
X = Y * X + 3.5 – 10  / 5 * Z

X = 4 * 3 + 3.5 – 10  / 5 * 1

X = 13.5

.الجميمid1المتغيرالىساسب13.5ه الاتي  

(14)



Stmt)Expr1(if

Syntax Analysis phase

;Expr2=

1id

1

2

>

1id 2id

3

4

6

*

2id 1id

7

8

3.5Num

+

–

1510

16

17

5

ولايExpr1ول تود فيparserولــــد سل

token  وس   ه streamولخ و ز   ولى

(postfix String Algorithm)ب  ت  هل ر ا

suffix)يحقتتةد خ طبشكل string)ثن

Parseولىد سل TreeAlgorithmد  دثن

وين وببشج ةت ت طف ن  شج ةبشكل

.ول ئ     /

10Num 5Num

9

3id

*

14

ولايExpr2ول تود فيparserولــــد سل

token  وس   ه streamولخ و ز   ولى

(postfix String Algorithm)ب  ت  هل ر ا

suffix)يحقتتةد خ طبشكل string)ثن

Parseولىد سل TreeAlgorithmد  دثن

وين وببشج ةت ت طف ن  شج ةبشكل

.ول ئ    

13

1211

(15)



Pointer for ID 

in Symbol table

Token table

Attribute Name

kwdo

1idA

Op=

2idX

Op^

3idY

Op+

Num4

Op/

4idM

Op*

5idZ

Pun;

kwWhile

Pun(

2idX

Op>

3idY

Pun)

Pun;

Symbol  table

Token nameSq.

A1

X2

Y3

M4

Z5

Lexemes 

do

A

=

X

^

Y

+

4

/

M

*

Z

;

While

(

X

>

Y

)

;

Token stream:

<do , kw> <id , 1> <= , op>

<id , 2> <^ , op> <id , 3>

<+ , op> <4 , num> </ , op>

<id , 4> <id , 2> <* , op>

<id , 5> <; , pun> <while , kw>

<( , pun> <id , 2> < > , pun>

<id , 3 > <) , pun> <; , pun>

Lexical analyzer phase
Source program 1

2

4

3

H.W.2: We have

source program

below . What are

outputs for Lexical

analyzer and

syntax analyzer ?

do

A = X ^ Y + 4 /

M * Z ;

while ( X > Y ) ;

(16)



(17) postfix):اللاحقالتموينخوارزمي  String Algorithm)

1اةس   التانيرسستلمالخوارزمي 

id1  =  id2  ^  id3  +  4  /  id4  *  id5

source) صيغته(infix)الا ديالاتط صيغه program)
postfixالىلتحوله String(suffix string):

ف رغ ؟اةس   التانيرالممخلااهل.1
.(2)الىاذهب:نام
.(3)الىاذهب:كلا

ف رغ ؟القت هل.2
.الخوارزمي مناخاج:نام
.(5)الىاذهب:كلا

أوNumberأوIdentifierأم )فقطواحمجميمTokenأقااش.3
Operator)(4)الىوذهب.(اةس   التانير)الممخلاامن.

أوIdentifierعنعن رلاالمقاوشTokenالاتوذجهل.4
Number؟

.(1)الىوذهبمن رالاالمداج االىأرسله:نام
(5)الىاذهبو(NextOperator)في(Token)الىىضع:كلا

.الشاط
أواكبر(TopOperator)المكمسقت اسنقي أنهل:الشاط.5

والقت (NextOperator)الق د الا ملأسنقي سس وي
ف رغ ؟ليست
.المداج اإلى(TopOperator)المكمسمنأسحب:نام

.(5)الىواذهب
مكمسإلىNextOperator))الق د الا ملأدفع:كلا

وجال(TopOperator)هويكونوسوفالاوامل
(NextOperator)يس ويEmpty(1)الىوذهب
.(أقااش)

Syntax Analysis phase
Sq. Input Stack.op Output

(1) id1 =  id2 ^  id3  +  4  /  id4  *  id5 Empty ∅

(2) =  id2 ^  id3  +  4  /  id4  *  id5 Empty id1

(3) id2 ^  id3  +  4  /  id4  *  id5 = id1

(4) ^  id3  +  4  /  id4  *  id5 = id1 id2

(5
)

id3  +  4  /  id4  *  id5 ^
=

id1 id2

(6) +  4  /  id4  *  id5 ^
=

id1 id2  id3

(7) 4  /  id4  *  id5 +
=

id1 id2  id3  ^

(8) /  id4  *  id5 +
=

id1 id2  id3  ^  4

(9) id4  *  id5 /
+
=

id1 id2  id3  ^  4



(18) postfix):اللاحقالتموينخوارزمي  String Algorithm)

1اةس   التانيرسستلمالخوارزمي 

id1  =  id2  ^  id3  +  4  /  id4  *  id5

source) صيغته(infix)الا ديالاتط صيغه program)
postfixالىلتحوله String(suffix string):

ف رغ ؟اةس   التانيرالممخلااهل.1
.(2)الىاذهب:نام
.(3)الىاذهب:كلا

ف رغ ؟القت هل.2
.الخوارزمي مناخاج:نام
.(5)الىاذهب:كلا

أوNumberأوIdentifierأم )فقطواحمجميمTokenأقااش.3
Operator)(4)الىوذهب.(اةس   التانير)الممخلاامن.

أوIdentifierعنعن رلاالمقاوشTokenالاتوذجهل.4
Number؟

.(1)الىوذهبمن رالاالمداج االىأرسله:نام
(5)الىاذهبو(NextOperator)في(Token)الىىضع:كلا

.الشاط
أواكبر(TopOperator)المكمسقت اسنقي أنهل:الشاط.5

والقت (NextOperator)الق د الا ملأسنقي سس وي
ف رغ ؟ليست
.المداج اإلى(TopOperator)المكمسمنأسحب:نام

.(5)الىواذهب
مكمسإلىNextOperator))الق د الا ملأدفع:كلا

جالو(TopOperator)هويكونوسوفالاوامل
(NextOperator)يس ويEmpty(أقااش)(1)الىوذهب.

Syntax Analysis phase

Sq. Input Stack.op Output

(10) * id5 /
+
=

id1 id2  id3  ^  4  id4

(11) id5 *
+
=

id1 id2  id3  ^  4  id4  /

(12) ∅ *
+
=

id1 id2  id3  ^  4  id4  /  id5

(13) ∅ +
=

id1 id2  id3  ^  4  id4  /  id5  *

(14) ∅ = id1 id2  id3  ^  4  id4  /  id5  *  +

(15) ∅ Empty id1 id2  id3  ^  4  id4  /  id5  * +  =

The postfix string1



5

7

6

=

1id

2

^

2id 3id

3

4

+

8

1

/

4Num 4id

11

5id

*

10

9

Parse Tree Algorithm of 

Postfix String1 

id1 id2 id3 ^ 4 id4 / id5 * + =

1 2

4
3

5
The postfix string1

Parse Tree Algorithm of Postfix String (suffix string):

suffix)الممخلااأمسح.1 string)اليتينالىاليس رمنالنماي من
.(2)الىوذهب.حار الافاعأومستقلTokenأم تجمه وسوف

؟فقطواحمعاصاالمقاوشلاالممخلااهل.2
.الخوارزمي منوخاج.الش الاهوأذن:نام
.(3)الىأذهب:كلا

أوOperandأم وهو(الممخلاامنااولالموقعمنااولالااصاأٌقااش.3
.(4)الىوذهب(حار الافاع

أم وهو(الممخلاامنالث ن الموقعمنالث ن الااصااقااش.4
Operand(5)الىوذهب(حار الافاعأو.

؟Operatorهوهلالممخلاامنالت ليالموقعمنالث لثالااصااقااش.5
الأولوالااصا(Root)ااعهو(Operator)الىىىر الافاعكون:نام

Left)لهاايساالطفلهو child)لهايمنطفلهوالث ن والااصا
(Right child)(1)الىوذهب.
واجال.اة ليالأولالااصااهت لوه التزحيف اتلي قم:كلا

 ملالث لثالااصاوجال.اة ليالأولالااصا ملالث ن الااصا
.(5)الىوذهب.الث ن الااصا

(19)



(20)

Sq. Input Stack.op Output

id1 > id2 Empty ∅

postfix:اللاحقالتموينخوارزمي  (suffix) String Algorithm

الا ديالاتطصيغهexpression2اةس   التانيرسستلمالخوارزمي 
(infix)صيغته (Source program)الىلتحوله(Parse tree):

ف رغ ؟اةس   التانيرالممخلااهل1.
.(2)الىاذهب:نام
.(3)الىاذهب:كلا

ف رغ ؟القت هل2.
.الخوارزمي مناخاج:نام
.(5)الىاذهب:كلا

أوNumberأوIdentifierأم )فقطواحمجميمTokenأقااش3.
Operator)(4)الىوذهب.(اةس   التانير)الممخلاامن.

؟NumberأوIdentifierعنعن رلاالمقاوشTokenالاتوذجهل4.
.(1)الىوذهبمن رالاالمداج االىأرسله:نام
.الشاط(5)الىاذهبو(NextOperator)في(Token)الىىعض:كلا

سس ويأواكبر(TopOperator)المكمسقت اسنقي أنهل:الشاط5.
ف رغ ؟ليستوالقت (NextOperator)الق د الا ملأسنقي 
.(5)الىواذهب.المداج اإلى(TopOperator)المكمسمنأسحب:نام
وسوفالاواملمكمسإلىNextOperator))الق د الا ملأدفع:كلا

يس وي(NextOperator)وجال،(TopOperator)هويكون
Empty(أقااش)(1)الىوذهب.

.المتغيراا ملقيم تاويضنقو اةلصح منللتأكم:ملاحظ 

Syntax Analysis phase

The expression2 string written by

source program: id2 > id3

The postfix string2

Sq. Input Stack.op Output

(1) id2   >   id3 Empty ∅

(2) >   id3 Empty id2

(3) id3 > id3

(4) ∅ > id2 id3

(5) ∅ Empty id2 id3   >



5.

(21)Syntax Analysis phase

1. id2 id3 >

4. id2 id3 >

2. id2 id3 >

3. id2 id3 >

1

>

2id 3id

2

3

1

id2   id3  >  

(Postfix String2)
(Parse Tree Algorithm of Postfix String)  

  وس لا  تنيحقتتةد خ ط

ولىةد سلول وبر ولخ و ز   

خ طشج ةبنونخ و ز   

.وللاحقول تةد  ولشج ةولىونلاهولشج ةف عت سل

.ول ئ    وين وب



;)Expr2(whileStmtdo

Syntax Analysis phase
1

7

>

2id 3id

9

8

ولايExpr2ول تود فيparserولــــد سل

token  وس   ه streamولخ و ز   ولى

(postfix String Algorithm)ب  ت  هل ر ا

suffix)يحقتتةد خ طبشكل string)ثن

Parseولىد سل TreeAlgorithmد  دثن

وين وببشج ةت ت طف ن  شج ةبشكل

.ول ئ    

ولايExpr1ول تود فيparserولــــد سل

token  وس   ه streamولخ و ز   ولى

(postfix String Algorithm)ب  ت  هل ر ا

suffix)يحقتتةد خ طبشكل string)ثن

Parseولىد سل TreeAlgorithmد  دثن

وين وببشج ةت ت طف ن  شج ةبشكل

.ول ئ    

;=

1id

4

^

2id 3id

5

6

+

15

10

3

/

4Num 4id

2

5id

*

1413

12

11

(22)



H.W.

We have source program below . What are outputs for Lexical

analyzer and syntax analyzer ?

while ( X > Y && X == 10)

X = Y % 3 ^ M ^ Z + 5 * S ;

(23)




